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Heart screening revolution by visualization of heart murmur using electronic
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Innocent murmur (IM) is an unexplained heart murmur found in healthy
children and is found in 70% of children. The purpose of this study is to simplify cardiac
auscultation by analyzing IM recorded with an electronic stethoscope. The subjects were 64 IM cases
(age 4.3 £ 2.9 years) and 60 cases of congenital heart disease (HM) (age 5.4 £ 4.9 years). The
analysis used Adobe Audition 2020 to analyze the sound pressure, duration and frequency of the heart

murmur. Unlike HM, IM had many third intercostals, no spread, short duration, low sound pressure,
and low frequency. In all the research results, the cutoff value with HM could be calculated.
Diagnosis by Al will be possible by repeating Al learning in the future.
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ROC IM  HM
RMS
IM  Cut off -32.96 0.89(p=0.0006) .
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IM  Cut off 14.23Hz 0.81(p=0.0002).
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Cut off 0.489 0.92(p=0.0005).
' E EFEy HS R
1.00 1.00 1.00
0.90- 0.90] 0.90]
0.80 0.80 0.80-
0.70] 0.70] 0.70]
o 060 w 0607 o 060
1§ %0.50- 0 %o‘so- i %0.50-
7 0a0] B 0.40] 7 0a0]
0.30 0.30 0.30]
0.204 0.20 0.204
0.10- 0.10 0.104
0.00 L IO L 000+ 000111117
0.00 020 040 0.60 0.80 1.00 0.00 0.20 040 060 080 1.00 0.00 020 040 060 080 1.00
1ERE 1HRE 1ERE
1BRat - HEE

DS =IMFIRES L TNET.

PR ¥ (Hz)
40

/A
=AY (point)

/6
e )

ME=IMEERES L TOET.

TE=MHIRE S L TINET.

Do EE(db)

LAY (po?nt)

Al

)/6
FHEEFRE(ET/RR)




125

2022




